
  

Big Life Choices as Econ Homework

problem #1: Where To Live?



  



  

For Now...



  



  

NPV here
NPV there

-
moving costs

<



  

NPV elsewhere  =  - ∞

This talk isn't for you



  

NPV here

Where here = the United States



  

US Debt as % of GDP
(CBO includes implicit debt)



  

NPV (explicit + implicit) debt = ?

NPV debt = 52.7 T$

US population = 306 M

NPV Debt / person = 172 K$



  

US Population Pyramid for 2010



  

US Population Pyramid for 2020



  

US Population Pyramid for 2020
By Voting Bloc



  

Retirees

On “Fixed Income”

Tax-averse & 
Service-reduction-averse



  

Who else can Pay?

Immigrants



  

1.5M / year



  

Who's left to pay the bill?

The Rich

The Young

The Middle Class



  

Who's left to pay the bill?

The Rich

The Young



  

Who are mobile



  

Where to move to?

NPV elsewhere = ?



  

Similar Standard of Living



  

Low Death Rate



  

Standard of Living / Death Rate



  

Singapore



  

Global Hurricane History



  

Global Fault Lines



  

Average Temperature & Rainfall



  

Things to Monitor

GeoPolitics

Exchange Rate

Local Politics



  

</rationality>
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